FA-HT074—Ib:
[ 5 4] DF11r3
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[ BA] MAEMEFX

[7ELA] 3
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Cvl |F7FLA | 3. | 0x03 _|oocoo0O1L |
Cv7_ | ®E=tt/\-JavES | 5 | 0x05 _|ooo00101 |
ICve |#iE=#D | 103 |0x67 ~|0110 0111 |SNJPN:Nagasue System Design Office
CV15 |OvDfERRES 0 0x00 {0000 0000 |1: "E—’Sl—j:]—

299V k71—

3 77/’)\/3/@%7] A
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 4-72-Y%9
CV16 [AvTH AT = 0 0x00 |0000 0000 |1: {—9—-}“:—’3

2HOVRFI-A

3 77‘/’)\43/@%7]—’5‘
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 4-v1-¥%%
CV17 |#ReR7PRLA | 192 |OxcO _[11000000 |
Cvi8 |#Rek7PRLA_ [l 0| 0x00 __|00000000 |
CV19 [##EPFLA. |l 0| 0x00 __|0000000O |
|CV21 | #8457 FLARMS F1-F8_ | 255  fOxff (11111211
CV22 | #4F7 FUAR I FL-F9-F12[255  |oxff  [1111 1111
CV29 | RERERE#1 6 0x06 |0000 0110 |bit5=2byte,

bit2=pwr(analog),

bit1=FL,
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, bitO=A®|
CV33 [AYFESA MRk 68 Ox44 0100 0100 | bit(7-4)iBA1E |

bit(3- 02,%':#51- Fno
| EitfE=4/As FATREE
CV35 |FX1%% 96 0x60 0110 0000 |bit7=END#I|{HI(2END),

bit6=END#fE(1END),

bit5=75 [ Hl {16 %h1E,

bit4= ;‘EKU:‘F‘?LO Al (=11%),

bit(0-3) = Fno$g 3 (0-12) ,14="% m LT
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, < End@ITHIERS FOTRT
CV36 |FX2E% 113 |[0x71 |0111 0001 |bit7=END#I|{EI(2END),

bit6=END#fE(1END),

bit5=75 [ Hl {16 %h1E,

bit4= ;‘EKU:‘F‘?LO Al (=11%),

bit(0-3) = Fno¥gE(0-12) ,14="5 =T
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, <IEndBITHER FLITRT
ICV46 [LOCKFEXDIR | 15 | oxof _ o000 1111 |
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ICV58 IDCMODE | 43 | 0x2b _ 10010 1011 |(bit7.bit0)=(F7.FO) ~
ICV59 IDCMODE | 0| 0x00 _ 10000 0000 |(bit4.bit0) = (F12.F8) . ...
CV60 | DF11 Specific Configuration [191  [Oxbf  [1011 1111 |bit5=A FORE BF s ik

bit4={= L FF 8 3¢,
I S ISR IS IR | bit3=AckFull
CV6l EREEERE | 3| 0x03 __[0000 0011 |bit1=2END{RIm XT bitO=1END®skT
CV62 |FX FxDecay / FxRate 198 Oxc6 |1100 0110 |FxDecay(bit7-4),

Fx;{%e(bit(ﬂ—O)(OOOO—llll)
CV63 | fikiRFXBHIAR 2 0x02 {0000 0010 |bit7=END#I{EHI(2END),

bit6=END#fE(1END),

bit5=75 [ Hl {16 %h1E,

bit4= ;‘EKU:‘F‘?LO Al (=11%),

bit(0-3) = Fnof& % (0-12) ,14="% 4T
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, *MARS,Z RO, T4vF PXBIRE
CVI0 [FREEEE #1 0 0x00 | 0000 0000
5
CVI0 [FREEEE #2 0 0x00 | 0000 0000
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Analog Configuration

246

0xf6

1111 0110

1111 0010

0010 0000

ma@ﬁt@lmm@ﬁk&%

0000 :
0001 :
0010 :
0011 :
0100 :
0101 :
CAY R4 I~(7I— RL/PI1)
0111 :

0110

NORM
AJF74F
HT-LFAHN
ET-II1b,
ENLT;
ERESAT,

NERR

1000 : g

1010 :
1011 :
1100 :
1101 :
1110

.NORMAL
0001:
0010 :
0011 :
0100 :
0101 :
CAY R4 I~(7I— RL/PI1)
0111 :

0110

2)9h—;
MARS;
1200,
22 RO,
BT

AYFFA K,
B7-51 b,
ET-I31k,
ERLT,

R ST,

NERR

1000 : s

1010 :
1011 :
1100 :
1101 :
1110 : &

2Vvh—;
MARS;
12 AR,
21 HIIT\

(bit7-bit5)=direction threshold
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